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1J Targeting and segmenting the market
r~

Market segmentation is dividing your customers into groups based on
them, having similar characteristics!

Age
Geographic Demographic Gender
Location l S
Target customers based on a The process of dividing a market Race
Region
R predefined geographic boundary. through variables such as age, Religion
rea
Postcod Lifferences in interests, values, and J gender, education level, family size,
ostcoae A
Urb preferences vary dramatically accupation, income, and moare, This Ethnicity
roan
Rural throughout cities, states. regions, is one of the most wildly used Family size,
and countries. strategies amongst marketers. _
Education
Socio economic group
Psychographic Behavioral
Focus on the intrinsic traits the Break down the way customers go
target customer has. Psychographic through their decision making and
Social class traits can range from values, buying processes. Attitudes towards Spending
Attitudes personalities, interests, attitudes, the brand, the way they use it, and Consumption
Lifestyle conscious and subconscious their knowledge base are all Usage
Personality motivators, lifestyles, and opinions. behavioral examples. Loyalty
Desired benefits

Why segment a market?

Advantages Disadvantages o if =
Increased sales - design and produce Promotional costs might be high- j:g@ .
products specifically aimed at groups different advertisements and promotions & |

needed for different groups
Helps identify gaps in the market - those | Cost of market research for that specific

not currently being targeted group or to find out the market segment
Avoids wasting money - marketing will be | Lack of information and data - some
focused on that specific group markets are poorly researched

Higher market share Hard to reach customer segments

sometimes
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4Ps of the marketing mix
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A\g Factors influencing the choice of marketing method
\\J

The marketing method should reflect the brand image. For example a luxury car mak-
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1 |'s the marketing method appropriate for

er will advertise in high end magazines and not a newspaper. If the advertising meth-

the product and brand image?

od is not appropriate, it devalues the brand meaning sales may reduce.

Enterprises with little funds need to choose wisely what to spend their money on. A
new start-up dog walking business is not realistically going to advertise on local radio
because of the high cost. They are more likely to use flyers and target local market
segments.

2 Cost of the marketing method

An enterprise is likely to see what advertising and promotion their competition are
doing. If their competitor is spending lots on advertising then this could mean they
attract your customers. The impact of this might be lower sales for your enterprise.

3 Competitors activities—what are
they doing?

4 Experience of the entrepreneur You may be a skilled and knowledgeable entrepreneur and know your customers well.
Put time into this will help your reputation and encourages positive word of mouth

recommendations. This can encourage more local people to buy from you.

An entrepreneur will want to push their advertising and promotion quickly to their
customers and so speed will be a key benefit. Digital media and using social media is
one method an entrepreneur can use to push advertising.

5 Speed and accessibility of the infor-

mation—how easy will customers see it?

A\

Trust, reputation and loyalty

Reputation is important to an enterprise when the enterprise is trying to attract customers and keep existing customer returning.

When this happens, sales usually increase meaning revenue increases and the enterprise will more likely make a profit.

To improve its reputation, an enterprise may engage in these four practices to try and attract customers

Being environmentally Friendly Improving Customer Service

An enterprise might want to adopt practices that are environ-
mentally friendly like reducing plastic (e.g. fast food outlets of

Customer service is when a business provides help, support or

advice to the people that buy the goods or services.

stopped using single use plastic straws). .
PP gsing P ) Good customer service helps keep the brand strong and cus-
This shows social responsibility as the enterprise is taking re- tomers are more likely to make repeat purchases.
sponsibility for their actions. Doing this will appeal to some . .
P ¥ & PP Poor customer service can damage the brand and will lead to
market segments and might influence some potential custom- . .
higher levels of complaints and a lack of trust.

ers to buy the goods or services.

Rejecting Unethical Practice

An enterprise is most wanting to be seen to do the right
things. As a result, they are likely to reject unethical practices
because using them can damage the brand and perception
people have.

For example, using children to promote sugary drinks might be
considered unethical and this could cause some customers to
stop buying the brand.

Helping the Community

Lots of enterprises try to improve their reputation by getting
involved in their communities through sponsorship, donations
and prizes.

This helps the enterprise because their brand is seen as sup-
porting local people. This will boost the brand image and can
help attract potential customers because of this social connec-

tion. More customers means higher sales.
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FINANCIAL OCUMENTS STATEMENT
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Payment Methods
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PAYMENT METHODS

Thers are 5 payment methods we need to learn for

the =xam:

1.cash

2.credit cards
3.debit cards
4 _direct debit

5. payment technologies

PAYMENT TECHNOLDGIES
Includes technologies such as:
*  Electronic {Intemst/phone) transfer

*  biokile banking
*  Contsctles: cand
' Bam

Advantapes

Disadvantages

Increaszed
convenience for the
COonsumer

Some methods only
accepted for small
tranzactions

Frowiding these
methods of payment
to customers may
attract customers who
do not hold cash or
card-based methods
of payment

May hawe sdditionsl
z=tup and operstion
costs for the
snterprise

DIRECT DEBIT

An zgreement mads with a bank, allowing z third
party to withdraw maoney from an sccount, on 3 5et
cday, to pay for goods [ services received 2.2, g2: bill

CASH

Motes and coins in a wide

range of demominations

hotes - £5 £10 £20 3nd £50.

Coins - 1p 2p, 5p. 10p, 20p 50p £13nd £2

Advantapes

Disadvaniages

Advantapes

Disadvantages

An eEEy wWEy 10 make
regular payments

& mestake © made and
Desay FruLec sl Re2y 15 L&,
LT T T
responsibility W claim
Bk the monay

The amaunt paid can be
dilferaent each manth
tha payment matches
tha armiownt awed

The changing amounlts
@ach month can maks jt
difficult Far custamears 1o
sudpet

Miost widely accepted
form of peyment

iCan be lost or stolen

Consumers fesl
confident using cash

Threat of counterfeit

iakes budgsting

s3zier

Cannot be uzed oaline

Easy to set up for the
enterprise owner

Less appropriate for
grge purchases

CREDIT CARDS

Issued by financial institutions e.g. HEtwess
Yorkshire building society, Barclaycard
Allows delaysd payment of goods B services

Advantapes

Disadvaniages

DEBIT CARDS

Issued by banks and building societies

£.E. Nabyesst, Yorkshire building society
Fayrment for goods and services iz deducted
directly from & current scoount

host cards are widely
accepted

Interest iz charged on
bzlances not paid off
within 3 month

Advantapes

Disadvantages

widely accepred

Euitable for online

Interest iz charged on

Mo need to carry cash

Customer needs to
have the requirsed
bzlznce zvailatlein

transactions cash withdrawals the current aocount
Offers 5 degree of A limit will oe seton sacurs methad of Loweer level of fraud
protection on the amount of credit payment with low risk | protection (than a
purchases allowed of theft credit card)

Euitabls for online
tranzactions

Loyalty schemes not
offered
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Revenue and Costs

REVENUE

Revenue is the income received by an enterprise from all sources.

There are 3 main sources of Revenue:

1. Sales

2. Leasing

3. Interest

Sales iz the main source of revenue for most enterprises. This is the money that the
customers pay for the goods and services that they buy.

Leasing means allowing somecne else to use scmething for a fee. Leasing a part of
a premises to another enterprise can provide a source of revenue. Some
enterprises specialise in leasing vehicles or equipment to other organisations.
Interest is =arn=d when an enterprise has money in an interest earning account at
the bank.

Enterprizes also try to think of Bdended Services they could offer to increases
revenue.

e g. a gym could sell sportswear

FORMULA Revenues = Number sold x Selling price

COSTS

An enterprise needs to spend money in order to maks money.

There are 2 main types of cost:

1. Start-up costs (Meed to be paid before an enterprise can start trading. E.g.
machinery)

2. Running costs (MNeed to be paid every month to keep the enterprise running.
E.g. rent, wages)

RUNNING COSTS

There are 2 types of running cost:

1. Fixed (Mot related to how much the enterprise sells E.g. rent)

2. Wariable {Related to how much the enterprise sells E.g. Delivery costs)

FORMULA
Variable costs = Number sold x Cost of one unit
Totzl costs = Variahle costs + Fixed costs
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Turnover (net sales)

The revenue (money) the enterprise gets from selling your prod-
ucts/services

Cost of sales (cost of
goods sold)

How much the enterprise spent on producing the product/service
(including raw materials, delivery etc)

Gross profit

= Revenue — Cost of
Sales.

Gross Profit is the amount of profit the enterprise makes from sell-
ing products/services, not including any fixed costs.

Expenses —

anything the enterprise spends money on

Net profit

= Gross Profit — Ex-
penditure.

Net Profit is the amount of profit the enterprise makes from selling
products/services, after taking off all expenses.

Retained profit

profit the enterprise chose to keep from last year’s work, this could
be reinvested in the business to expand.

Fixed assets

something worth money, owned by the enterprise, that they will be
using for more than one year e.g. premises, vehicle, equipment

Current assets

something worth money, owned by the enterprise, that they will
have for less than one year e.g. cash in the bank, stock (they will
sell)

Current liabilities

debts the enterprise will pay off in less than one year e.g. trade
credit, credit card

Long-term liabilities

debts the enterprise will have for more than one year e.g. mortgage

Debtors — someone the enterprise is waiting to collect money from e.g. cus-
tomers who have not yet paid their invoice

Capital money available to invest in the business usually to buy equipment
to start the business or big one off items

Creditors someone the enterprise owes money to e.g. a supplier that has not

been paid yet

Net current assets

Current assets minus current liabilities
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Weed to be akle to explain the following terms:
Tumower [net sales) - The revenue [money) the
enterprise gets from selling your products/services
Ciost of sales [cost of goods sold) —How much the
enterprise sp=nt on producing the productfservice
{including raw materials, dalivary gt}
Gross profit = Revenus — Cost of Szles. Gross Profi
5 the amount of profit the enterprise makes from
selling products/services, not including any fixed
costs
Expenses—znything the enterprise spends money
on
Met profit = Grozs Profit — Expenditure. Met Profitis
the amount of profit the enterprize makes from
zelling products/services, afer teking off 2|
EHpenIsE.
Retained profit —profit the enterprize chose 1o
keap from last year's work, this could be reinvested
n the business to expand.
Fixed assets —something worth money, owned by
the enterprise, that they will be using for more
than one vear e.5. premizes, wvehicle, eguipment
Ccurrent assets — something worth money, cwned
by the enterprise, that they will have for less than
one year e.g. cash in the bank, stock (they will sl
current liabiliies — d=bts the enterprizse will pay of
n lesz than one year e g. trade credit, credit card
Long-term labilites — debis the entanporizs wil
have for more than one yesr 5. mortgags
Debtors — somsone the snterprize iz waiting o
collect money from e.g. customers who have not
yet paid their invoice
Creditors — someone the enterprise owes monegy to
&g 8 supplier that has not besen paid yet
Net cumrent 2s5ets — SUITENT 333555 minws CUITENR

capital — monsy gvailable to invest in the business

STATEMENT OF COMPREHEMSIVE INCOBAE

EShows the profit or loss of an enterprise over time.
They are sometimes called Profit ond Loss Accounts or
incame Stofements.

Grzss frgfic amd Wet Profit will be caloulated.

FOREMMLULA
Eross Profit = Bevenue — Cost of zales
Met Profit = @ross Profit — Expenditure

E £

Incoamee from sales 40,000

Coit of Laled 10,000

(aross Prodit 300, 00601

Expenses

Wages 13,000

Elactricity 2,000

Net profit 15,000

STATEMENT OF FINARMCLAL POSITION

Ehows the financizl performancs of an enterprize 3t 3
point in time.

They gre sometimes called Bolonce sheets.

What the enterprize owes and owns will b= included.

A Etatemnent of Financiz! Postion includes:
Assets— what the enterprizes owns and any monsy
owed to it

Liabilibes — what the enterprises owses to others
Ccapital— how the enterprize is funded

FORMULA

Total Aszets = Figed Assets + Current Asssts

wharking Capital = CA — CL [current aseels — currenl
abilities)

[#lz0 called Met Current Azssts)

Met Azzets = TA —TL {total assets - total lighiltiss)
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PROFITABILITY
Profitability is 3 measure of the profit of an
enterprise in relation to sncther factor.

It gives 2 more accurate of the position of the
entarprize by comparing one figure to anather.

There are 2 profitability ratios to learn:
1. Gross profit margin (GPM)
2. Met profit margin (NPR)

LIy
Liquidity messures an enterprize’'s shility to mest
short-term cash payments

Liquidity ratios measure how solvent an enterprise
is [how essily it can meet short term debis)

There are 2 liquidity ratios ta learn:
1. Cwurrent ratio
2. Liquid capital ratio

GROSS PROFIT MARGIN

Gross Profit = Revenue — Cost of sales

5 - s pioiil
Groas Profit Masgin percentage = E‘ﬁ% L]

1i0xn
Thiz ratio looks st gross profit 25 3 percentage
of turnover.

It shows us, for every £1 made in sales, how
much iz left az gross profit after the cost of
goods sold has been deductad.

A grozs profit of B2% means, for every £1 of
sales 8o iz |1=ft 35 gross profit.

CURRENT RATIO

Current assets

Current Ratio = .
urrent labiities

A current ratic of 3 means an enterprize has 3
timeas a5 many currant assets as current liakbilitizs.
For every £1 of short-term debts owed, it has £3
of 3szet= to pay them.

The idesl ratio iz 15

If the current ratic is less than 1 the enterprise will
strugsle to pay its debts.

MET PROFIT MARGIN

Met Profit = Gross Profit — Expenditure

el profit % 100

Net Profit Margin percentage = T tere

This ratia locks 3t net profit as 8 percentags of
turnower.

It shows us, for evary £1 made in sales, how
much is left az net profic after all of the
sxpenses have been daducted.

A net profit of 32% means, for every £1 of sales
32p is left as net profit,

LIOUID CAMTAL RATIO

Liquid Capital _ Current assets - lnventory
Ratio Current liabilities

Thiz ratio remeoves inventory from the caloulation
because stock could be difficult to quickly turn in

to cash to pay off a debt.

The idesl ratio iz 1.

If an enterprize has less than this it owill struggls to
pay its debts.

DIFFERENCE BETWEEN CASH AND PROFIT

Cashiis the amount of money currenthy or soon-to-be avsilable.

It is the money coming into the enterpriss.

Liquiidity iz 2ll about how much cash the enterprize has gvailable

Profit is the amount of money |=ft over efter all expensss are paid.

Remamber: profit = revenue — expenditure

Profitability iz 2/l 3bout how much profitthe enterprize is making

A successful enterprise nesds both cash snd profit to grow over time.

s5\>
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[ eAsH
Cgsh is the liquid aszats of the business
This includes:
* Bank balznce
* Other cazh in the business

NEGATIVE FIGURES
If amy figurs is &2 negative number, then it can be

shown with & minus sign or betwesen brackets
=g -4500 OR [4500)

CASHFLOWW

Cash flow is the money flowing in and out of 2

busineszs

There are 2 types of cash flow

1. Inflowrs (money in to the business)
& g. paymi=nts from customears

2. Qutflows [money going out of the businass)
g g. paying bills

LBCRUIDITY

Positive cash flow is when the inflows are
greater than the outflows.

This is called positive liquidity.

MNegative cash flow cccurs when the outflows are
greater than the inflows.
Thiz iz called negative liguidity.

CASH FLOWY STATEMENTS AND FORECASTS

A cash Alow staternent shows the cash inflows
znd cash cutflows over the past 12 months.
Theszs zre producad by limited companies.

A cash Alow forecast zhows the anticipated cazh
inflows and outflows over 2 period of time and
the net cash flow.

LAYOUT OF A CASH FLOW FORECAST
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BEMEFITS AND RISKS OF CASH FLOW FORECASTIMNG
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REASOMNS FOR CASH ALOW PROBLEMS

The enterprize may not use cash flow stetements or
forecasts

owertrading (growing too guickly without enousgh
fundsz}

Debtars may not pay on time

All bills might be due at the same time

Un=zpected payments

Poor cash flow management

|=.g. poor record-keeping or not chasing debtors)

ANALYSIMG A CASH FLOW FORECAST

The most important figure iz the closing bank
bzlzncs

Unlzzs 2 busingss has 2n overdraft they should mot
hawve 3 negative closing balance

A zmall positive number mesns the enterprizs can
continue to trade and pay bills

A zmall negative number means mongy may have 1o
be borrowed

A lgrge negative number means the enterprise may
have to closs unless action is tsken

ACTIONS TO IMPROVE CASH FLOW
Cuttimg costs

Imcreasing revenus

Reducing stock levels

Delaying payments

Raducing credit periads

Making an early payment bonus
Zzlling azsets

Managing debt

Delaying expansiaon plans

WHY FORECAST?
Enterprises ne=d to be able to forecast cash flow to
=nzble them to make busines: decisions.

This iz important to make sure zll expenses will be
coverad,

@
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| Break Even Analysis

Bregk eyeqn is when revenue and expenditurs are
exacthy the same.

Thersis £0 profit.

There are 2 ways to calculate the greak even
point;

1 Bresk even formula

2. Break even chart

BREAK EVEN POINT

The Brezak Even Point (BEF) iz the number of
itermns the business needs to sell (or customers
they need to serve) to cover all of their costs
and make exactly £0 profit.

BEF is MOT rmoney.

BREAK EVEN FORMULAE

fizeed costs

Bresk-Even point =
s2lling price per unit — varishle cost per uni

MARGIN OF SAFETY

The Margin of Safety is the differance between
the Break Even Point and the current nurmnber of
zales.

Margin of safety = Number sold — Break even point
it is useful because it reduces risk becawse you
adually sell more than the BEP =o it provides a sales
safety net where sales @n reduce but the business
still makes a profit if abowve BEP. Secondly, it allows a
safety net for the business to lower or increasa the
sglling price to see what impact this might have on
sales.

PORTAMNCE OF BREAK EVEM

Ersak-even iz an important calculation.

This is because it tells the owners of 3n enterprizss
exgcthy how many products they must producs and
z=ll before they can start to make 3 profit

The benefit of using 3 bresk-even analysiz iz that it
allows the owner to answer "What if " questions:
what if we were able to z2ll an extra 200 units?
what if rent went up by £80 per month

VALUE AND IMPORTANCE OF BREAK EVEN ANALYSIS

Boih ihe fiaed snd wariable coio are Corin sre uabaora |'1.1:|-'|‘,|“-
LT
Priger ad pbes e o abiulned Thes wllbirgg piioe M ot Toa boeie 0 16003

Fagh

UMITATIONS OF BREAK EVEM ANALYSIS

The model is & simplification

It azzurmes variable costs increzse constantly
lignoring the possibilities of negotiating lower prices
for purchasing largs guantities of raw materizls)
Aszumes the firm sells all of its cutput at a single

Fixad cost

Quantity

e e=lhrpa e be o b maresy The evfreprerae hunoro sea how ) . ; 3
kot ivast. e kel o e 3 NIV | ey RO v s soikd o ke price {in reglity firms offer dizcounts for bulk
(P purchazes)
B el e ey L e Thee evierpric iiaile & ki iy 3 g . . .
T ——— pivicd o L witheast ary acsios Beng | | ASSUMES 2l output is sold [In times of low demand, a
e — firm may have difficulty s=lling all t produces)
The murgn of ety n known Ther marpie o nalely in uniinosss
TR b ot are oftbed ol i al -'.: b onils b=y rash, o e o e
b aptimum price wo e mbrgehie s | seong price [maybe b than aoil
wm gl | e o e e Ly g e |l
BREAK EVEN CHART START-UP FINAMNCE
v The money that enterprize ownsrs will use o create

their business=ss is known as start-up finance.

some people use their own money and others will
use extermzl sources (such as 3 bank loan)

Etarting &n enterprise is expensive snd it will be some
time before the start-up costs sre repaid.
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Sources of business finance

FINANCE FOR GROWTH

If an enterprize is successful, the owners might
Zdecide to expand, such as:

selling more products

WORKING CAFITAL : DAY-TO-DAY FINANCE
Waorking capitzl is the monsy an enterprize needs to
run from day to day, paying fior things such as:

* ctock

Op=ning 3 new branch * Bills

Woving in to new markets * WEESS

|Zources of finance for growth could be the same as

start-up finance, but retzined profit could slso be

used]

INTERMAL SOURCES — ADVANTAGES & DISADVANTAGES | RETAINED PROFIT [INTERMAL)

L
L L

1 o e e By, - el B

A major source of long-term finance

hareholders of 2 business will share maost of the
profit and the retsined profit is the amount of profit
that is not shared out. [Itis kept in the business)

PERSOMAL SAVINGS [INTERMAL)
The busines:s owners own moneay
Could be referred to a5 owner funds
Low rizk

SALE OF ASSETS [INTERMAL)

An entergrize might sell some of the assets they own
|premizes, vehicles] to raizs monsy.

When funds are low, sale of assets can free up cash
to pay off debts and buy stock.

SHORT-TERM EXTERMAL- ADVANTAGES & DISADVANTAGES

el wre g Beralon [

(eI = Hai b b repasd witha a

CREDIT CARDS [SHORT-TERAM EXTERMAL)

A comman source of finance for small enterprise

The card has & credit limit [gg £3000) and the owner

can spend up to that amount

They pay interast on the balance of the credit card
If the total amount if paid back within the month no
nterest is cherged

Each month the owner will pay off some maney

OVERDRAFT [SHORT-TERM EXTERMAL)

Used for start-ups and smell busineszes

An overdraft is a loan facility

The bank =t the business owe it monsy when its
benk balance goes below zero

The bank charges interest [often at 2 high rame)

A flexible source of finance only ussd when nesded

TRADE CREDIT [SHORT-TERM EXTERMAL)

On= of the main sources of short-term finance

Rew materials can be purchased on credit with
payment terms betwesn 30 and 90 days

It Is an interes-free short-t2rm lozn

Allows business to receive the revenue from goods
zold befiore having to pay suppliers

LOANS [LOMG-TERM EXTERMAL)

An zgreed amount of money that will b= paid back
over 3 period of time

Enterprise owners need to apply for the bank loan,
proving they cam repay the loan

Interaest will b= added to the monthhy repayments
[vou pay back more than you borrowsd)

HIRE PURCHASE [LOMG-TERM EXTERMAL)

Hirz purchzass sllows a business to use expensive
aszets, such 25 machinery, without paying the whole
cost up front

Regular amournts of money paid to the supplisr
when they have paid the total cost of the
sguipment, it belongs to them

LEASING [LONG-TERM EXTERNAL)

Lezzing allows 3 busingss To use sxpensive 353815,
zuch 25 machinery, without having to buy them

A business pays regular amounts of money to borrow

the =guipment from the company that owns it
Return the equipment when finished with it

GOVERMMENT GRANTS [LOMNS-TERM EXTERMAL)
=rants can come from local or national government
They are incentives to support the growth of
snterprise that have 3 positive impact on the
sconomy. such 33: providing 3 social bensfit,
creating jobs in high unemployment areas
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